KEFREF) M

B/PE SRR | FEER/ B ks |7 Em
B~ Lf HA- 1 A4 240 *E¥=x 3 &k
KEFT R T B e PSS R

FY4R
TRIEERTEERE S S SN e T
FVY g FYr 7

Ab-111-1 8 % 2+ & e e 4 {7

Ab-I11-2 p ;’N%‘IE—’.%{;“%

EVEr 3

E i AN | KERERP KEFTR/KE 5

R R

[51484] ~

- S ERAEBSKR?

l. ARE2pw BERY

2. FTEREAELI0E L X 100
B LawE 4 BRAPE B A
W T LET 100 A i
100 & 4 F_2% i ciapk e o

3. A M B ks
(T #5911 ko 27 Fick
ARSI SERS IS T
FEAE 100 F17 90 & chpF i)

[ 8z#]
SN A AP IRA PR ?
(-) [@%si]
EEER T RS R
3
A

; google ¥4 18T 5 » & (B A 37
A 2P gRITET B
(Z )L

REA v BE L L Rs
B R e A
HERFRE - 20
HGTRT A 5 R(8 L) P
B )~ kFEE4 )
(4] ) 5o 4 o
(ZEHBFELE g Tn

BOF AT et
WA - EATE

B LRy E- % 24 & o
o8 A 3(1/3) 0 8] & L@
T AapEm (1/3) 4/ FF k& A

w(1/6) 4 | @FEHBe a2 v B




S (1/6) > F2AmEF 90
= PN qluzn\

® ok 90%1/3=30()

® iR : 90%1/3=30(#H-)

® kP : 90%1/6=15(H)

® Hiu 90%1/6=15(F ~)
RIRPER o R - F IS EHE
B CERROE o

()RR

[FmEd] @ v P FEEFR
BT GR AR E A
B % — Bl e R R kA

D/ R g ?

kS
1y

(3142818 ]

- CFRETEFRRRR

[ ] 1% ke Ed 2 @

PPT 3 iz 7%

PR PP 48

(D&KEF £ %z p#T 50 =%
B~ 100 ~ % E ~ 500 ~ W E
21000 =5 i it 5 <

(- - Fimdi- Lh s £ e
&

(Dw kcy | 2w P BT - =

17,
515 °

(DOPFE 4] 30 47 > & iz
BoLoFfpds koo frde koeni i
TR 0

(OE®E F R EY Eaenk

(6)%7 /| o 3 Adenpr e £
B’\i‘\aﬂﬁﬁ%‘;“ P‘}Fm°

[% B z6])




S BRE AR
(= )it ik 30m B 4]

KRN )
o
()2 E & e d s BB oy
feEE o SF e . S
() [FFEE]) k8552 R
FAERER I E BRIRH A
FIRE o 5%
(2 )REFEEF 2 g 4 > &I S
T e g3 v
® Do BEMEGRY . P
o & i
® i AULE AR o # -
® EiFdIHFE - = 74
=~ XFEL¥E o5 i
(=) [HFE#]PIfFFEYd % 78
FHE 2283 A BHY e
% 1 AE - B
[ Ep & %] Voo £ EBENE T RS LS EIRR
@S5 BT et 2 o 0
OB g R
O3t T T FIES AL e
W2 o v i AR EEENE T RS SR EIRR
T e | o e
(=) [®%]) ' 5F2*F5 & S AR AT TR TN
T EE RS 6 S AN PAGTA AV,
AZ o RBFHRTER?
[fREd]
T~ wAER B
(—)EF2 - dewffs =t Voo
P ? Fein
(=) [F%] 1 5F2*FF ¢ BiE
v EEL R SR Ak ; 53
A2 IRE R BRI Q- ES
BREE - S PEER =~ F ¥ E
B ... ARSI A= 5 A #
- BREdE RBFEY 0 FIH [




